H & 0l & AHS B Ml A

M ASHE 48 X LASAH 243t
CHel: ASD B2E L NASA 243 (crol: @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
AbR e & 1t 5,777,453 6,374,873 A597,420
= 420,984
== 418,248
Al 4,938,221
ASHF 48 Y NASAH 243t 3,729,724 4,053,414 A323,690
= 420,984
< 385,248
Al 2,923,492
A5 5438 d NESA 243 3,729,724 4,063,414 A323,690
= 420,984
== 385,248
Al 2,923,492
2y 2 2 159,627 173,3% 13,768
201 2= 87,397 92,980 A5,583
01 AtR2t2lt] 77,397 82,980 25,583
ONF & 2Tt S MH
10,0002 *1005+82] 8,000
OHI=I1, AL, eHet D] KIS
10, 000& *6500H A= *35+23] 39,000
OXXeE ge=8 225 F
451,000 72| 3,157
O=AEX 7Y 22,5003 288t A% 123 7,560
OZZ saUx = 2,400
—ZZ SEUH BT S M
700,000 22 1,400
—AHEH &Y 2 WA
50,000 *10JH*22] 1,000
OXXed dR=N S|
8,000 x7H*152x 12 10,080
OAlgl el et Se1J1 Xt
300,000 2404 A 7,200
02 s3=gHl 10,000 10,000 0
O&=AE. 2. 2 g23|
10,000,000 * 12l 10,000
202 04l 8,580 9,540 A960
01 =LHA LI 8,580 9,540 A960
OAHZ=N & SYFXN R AJAEY
G1:] 0,000 x5& =2 82 4,800
OXEEH gF=8 0ol
60,0002 x2& *x32+332] 1,080
OANlEZxE2lal ARFE 0
60,0002 x32 32 +52] 2,700
203 HR=AH] 9,000 9,000
03 A= L2 FAIH| 9,000 9,000
OLHAHF A LR FA
5,000,000& *14] 5,000




SA R E
M ASHN A U NAZA 2H3
chel: ASH gHAs & NFSAH 2435 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAlZER g% =4 4,000,000 * 14 4,000
303 Z&a= 10,800 12,000 1,200
01 Za= 10,800 12,000 1,200
OBFHT 24 SUS AN
10,800,000& x12] 10,800
307 @I2t01 & 43,850 49,875 26,025
06 28= 43,850 49,875 26,025
O0I18d SHaoi=d 50,000 »877H 43,850
SHs =X 301,914 366,978 A\55,064
201 er23| 173,594 175,178 A1,584
01 At2t2ltl 135,600 135,600 0
OSHS S3AE & Al 2= HH
320,000 x24I A+35 23,040
OSBIE FARH 446 S|
720,000 %2404 A 17,280
OSHs SstAY =a(0IE n=x)
200,000& *240H 2 4,800
O8HE St (SatAt 2128)
280,000 x24I #2353 13,440
OSPiE LMBE 2% Xa
700,000 %24 0H A 16,800
OsH8sd 32 At M
10,0003 *50=+62] 3,000
OsHsS X224 S|
19,0003 3004 2+ 123 6,840
OSts SAUZHIANAE 9]
140,000& 3004 =% 123 50,400
02 S22l 37,994 39,578 A1,584
Oseis 245
559,000 240l 2 13,416
Os%HS ANE&H =X
40,0002 «240 A+ 122 11,520
O&&Al ADEOISEY SAE=
1,960,000 *4=2 7| 7,840
OdEIE SE24E 35R=
260,900 *200H 2 5,218
202 04l 13,200 14,760 21,560
01 =LHAHI 13,200 14,760 1,560
OsHs gdst XA #XI0H
60,0003 x43H x2! 5,160
O0s8g.& a4 S 0l
60,0003 *67 H+2! 8,040
301 EtE NS 15,120 17,040 21,920
11 AFAHIX 15,120 17,040 1,920
OX& U= b &bl X2
10,0003 * 132 %2401 2 3,120
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SA R E
M ASHE 48 X LASAH 243t
CHel: ASD B2E L NASA 243 (crol: @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 203,168 205,750 A2,582
01 At2teltl 13,168 16,750 N2,582
OAIZIS] & &AL =& 13,168
—HAFLRAE S 3o A =H
100,000 x 14 +63] 8,400
—SAMEX S A2 MRES
368,000& x14] 368
—dEa 224 Sl
8,000 x4 »50! 1,600
—IgE EH . 58,23 S ¥
280,000 %53 1,400
—AIo] & S (IH) M=
700,000 +2K 1,400
03 A= EHI 190,000 190,000 0
OAIZI9] & &AL =&
190,000,000& 12 190,000
301 EtE2 NS 9,505 10,561 1,056
11 #AIAHIXIZ S 9,505 10,561 1,056
OAlZIold &AL =& 9,505,000& %12 9,505
307 212+01& 62,100 81,700 219,600
04 QIZIHAIAIH E X 62,100 81,700 219,600
OAlRIS] & AL =X
62,100,000 * 14| 62,100
Hz=Atd SEE HEXA 105,984 137,000 231,016
= 27,000
Al 78,984
201 eer23| 10,000 25,000 15,000
01 AtR2t2lHI 10,000 25,000 15,000
O0==10-19 21223l X 10,000
—0{=10 - 19AFA 2 =8 M
100,000& » 142 1,400
-2 o3| 3oxE
100,000 x 10 +53] 5,000
—3oMF & B S MH
36,0003 202 +52 3,600
301 LEtE NS 5,984 5,984
14 JEt2a s 5,984 5,984
O =t AR2 THASAHL 23|
11,0002 x544& 5,984
307 lztol & 50,000 112,000 262,000
= 15,000
Al 35,000
02 2IZHBYAIAE & 50,000 102,000 /52,000
O z=AtA 3H MEHZE &Y
20,000,000 * 14 20,000




2A:

M ASHN A U NAZA 2H3
chel: ASH gHAs & NFSAH 2435 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 6,000
Al 14,000
OW=10 19 KREUAFO
10,000,000 * 14 10,000
= 3,000
Al 7,000
OS=0| 4 0100] M
20,000,000& *14{ 20,000
< 6,000
Al 14,000
308 AHXIEMSOIE 40,000 0 40,000
= 12,000
Al 28,000
18 SIS0t HAS A 40,000 0 40,000
O &AtA2E QIZ AL
40,000,000& *14] 40,000
== 12,000
Al 28,000
At AFEZALE X 379,870 379,870 0
= 379,870
101 21AH| 366,570 366,570 0
= 366,570
MU IIRIMZENSES 366,570 366,570 0
Oel2b| 366,570
—Jl2= 87,2002 x8EH*21&x 112 161,146
= 161,146
-5+ 87,2002 x8& »48L 33,485
= 33,485
—OdH 38,400,000& » 14 38,400
= 38,400
—d0=2 400,000 x12/+8% 3,200
= 3,200
—Qixtagt 87, 1402 +102 82 6,972
2 6,972
—anEE R JlaRga
123,366,436 14 123,367
= 123,367
201 er2 3| 13,300 13,300 0
= 13,300
01 At2tltl 10,470 10,470 0
OSAEA 7Y 400,000 62| 2,400
= 2,400
OSAPI Xtz 450,000+ 11& 4,950
= 4,950




SA R E
M ASHN A U NAZA 2H3
chel: ASH gHAs & NFSAH 2435 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Oxtegr ext=z 624,000 x5 3,120
= 3,120
02 S52g4l 2,830 2,830 0
Oxtgr 7=l 2,380,000& *14] 2,380
= 2,380
o882 450,000 *14] 450
= 450
Hz=Atd |FHEX 2= 2 JHIAKY 50,000 30,000 20,000
s 15,000
Al 35,000
401 AIEHIZ SR OHYI 50,000 30,000 20,000
< 15,000
Al 35,000
01 Al&HI 50,000 30,000 20,000
O0l=Ar2 SR ZHI
50,000, 000& » 14 50,000
= 15,000
Al 35,000
FAH =8 3,800 3,800 0
=S 1,140
Al 2,660
201 et 3| 3,800 3,800 0
< 1,140
Al 2,660
01 At22t2ltl 3,800 3,800 0
Ozl =2H=2s 3,800,000& *14] 3,800
== 1,140
Al 2,660
gAY 250 2SDI 675,000 687,000 A12,000
= 270,000
Al 405,000
307 @20l & 675,000 0 675,000
s 270,000
Al 405,000
02 LB AAHEE 675,000 0 675,000
OFEMY 2502 2SI At
5,000,000 *1357H 2~ 675,000
& 270,000
Al 405,000
Aglzs =8 136,120 182,660 N46,540
201 er2 3| 30,000 36,500 26,500
01 AtR2telHl 30,000 36,500 26,500
OAl2lzs = 30,000




A AR E
M ASUE AE E NHESA 2435
chel: ASH gHAs & NFSAH 2435 (SH9 H2)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
—ANE2E 1= 29
1,500,000 *42] 6,000
—ANElE2E EEESSMA
2,100,000 *42] 8,400
—ANEI2S HRFH 257
1,400,000 *42] 5,600
—AN22E uEslzs ¥ 4 WA
1,000,000 *42] 4,000
—ANZ2E 39 BArG
100,000& *15H *42] 6,000
202 044l 1,920 2,160 AN240
01 S| 1,920 2,160 A240
OAlgl2s R ol
60,0002 * 16 *22] 1,920
301 LENZ 7,200 8,000 A800
11 HAIMHIXIZ S 7,200 8,000 A800
OoAgles =8 fds
2,200,000& %12 2,200
OANEI2S dA 85 KNI
500,000 * 10+ Al 5,000
307 212t01™ 97,000 135,000 A38,000
02 QIHHAANSEE X 97,000 135,000 38,000
020248 ABI2S =8 S2AHY
9,700,000& = 10EH K| 97,000
AMBIZASSIAHEH 2 327,473 327,473
101 e124d| 233,597 233,597
04 JIRHNZ2Z2XSE+ 233,597 233,597
O8d o1Ad| 77,673
—Jl== 2,561,300 1101 2 2Y 56,349
N
11,3193 15A1 2110 B +2Y 3,736
—=3d=4 140,000 #1100 & ~2H 3,080
A= 60,0002 114 & +2& 1,320
—EESIH 1,536, 7803 x23|x2&H 6,148
—EAZAHI 140,000& x 110 2 2% 3,080
— s 22| 180,000& #1101 & ~2H 3,960
Og& olad| 132,375
—Jl== 2,110,800& 1101 & 4L 92,876
— =z
10, 1623 *15A1 2E+ 1100 B +4H 6,707
—=3=4 140,000 #1100 & ~4H 6,160
—ItESE 60,0002 11042 +4Y 2,640
—EESIHI 1,266,480 +23| x4 10,132
—HAZAHI 140,000& x 110 2 x4H 6,160
— g2 X 175,000& x 111 2 43S 7,700
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SA R E
M ASHE 48 X LASAH 243t
chel: ASH gHAs & NFSAH 2435 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
JES0I SAte 29
250,000 *23 500
AESAEH HEH
100,000 *43] 400
AESASHE 23
1,250,000 22 2,500
NS Al S8 AAALS
100,000 * 1504 2 1,500
AESA HE 2E 2
1,500,0002 23] 3,000
=X 4l & 22 wF
317,500 43 1,270
- NASA 2S5 EE2(NS 28 S)
250,000 43 1,000
—KESAHAL IdlEE 2Y 25,830
- 2 NHESAHL o2 &g
875,000 42 3,500
AESAEAIZE JI2H 28
5003 *4,000A12+ 2,000
KNESAL & 22
3,000 *110H 330
- 25 ANESAHAE & NS eIHA 2
a5 5,000,000 =42} 20,000
—20l OIMEl & B3l 2¢
2,000,000 *43] 8,000
03 P HNEE 22X 402,438 340,168 62,270
O(AE=EAIE SAHIE 2SR (21214H]) 368,638
—Jlzs 179,173
HEHE 3,103,200& «12& 37,239
A= 2,611,000&~12& 31,332
g 2,867,400& 12 34,409
832 2,561,300 128 30,736
Shall 1,922,300~ 128 23,068
g2 1,865, 7002« 12& 22,389
—JIE2E 60,0002 +x8& * 12 5,760
—AIZHel g
19,0062 x30A| 2t+8E » 122 54,735
—E3+4 20,0002 +7 L+ * 122 13,440
—HHZAIY 140,0002 x6 % » 122 10,080
—Ag2xH| 17,940
HEE 250,000+ 122 3,000
cANE=E 185,000~ 128 2,220
Sk 180,000& x2&~12& 4,320
g2 175,000 x4 » 122 8,400
—3=2+4 5,161, 135823 10,323
—SEFIHI 8,958,540 <22 17,918
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M ASHN A U NAZA 2H3
chel: ASH gHAs & NFSAH 2435 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SAIHLIE 500,000 6 3,000
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